

Page 1 of 1

Florida Department of Transportation



Letting:

Vendor Ranking

Z4082 Contract:

District: District 4 Call Order: 027

Fed Aid No: ER18401E

Counties: DIST/ST-WIDE

Project(s): 44275415201 (*)

Contract Time: 730 AVAILABLE DAYS

Contract Desc: PERMANENT SIGNAL REPAIR

CT180613

June 13, 2018 10:30 AM

Ranl	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ARC ELECTRIC INC	Responsive	Winning bid	\$889,999.99	100.00%
2	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$1,490,183.28	167.44%
3	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Non-Winning Bid	\$1,661,300.00	186.66%
4	FLORIDA SAFETY CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$1,704,750.00	191.54%
5	TRAFFIC CONTROL DEVICES, INC.	Responsive	Non-Winning Bid	\$1,886,068.00	211.92%
	AGC ELECTRIC, INC.	Non Responsive	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 7

Letting: CT180613 June 13, 2018 **Call Order:** 027 **Contract:** Z4082

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: ER18401E

Contract Time: 730 AVAILABLE DAYS

Project(s): 44275415201 (*)

Contract Descr: PERMANENT SIGNAL REPAIR

The improvements under this contract consist of repairing and replacing existing traffic signals damaged by natural disaster on the primary and interstate roadway systems in Broward, Palm Beach, Martin, St Lucie, and Indian River Counties (District Wide).

Line No / Item ID Alterna	ate Quantity Units	(1) ARC ELE	ECTRIC INC	(2) SIGNAL TE AND INSTALL		, , ,	LIGHTING AND ATION, LLC.
() indicates item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Signalization						
0005 0632 7 2 SIGNAL CABLE- REPAIR/REPLACE/OTHER, FURN INSTALL	1,000.000 LF IISH &	15.00000	15,000.00	17.73000	17,730.00	10.00000	10,000.00
0010 0633 1111 FIBER OPTIC CABLE, F&I, OVERI 2-12 FIBERS	10,000.000 HEAD, LF	3.65000	36,500.00	5.37000	53,700.00	4.50000	45,000.00
0015 0650 1 14 VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, SECTION, 1 WAY	800.000 AS 3	805.00000	644,000.00	1,299.08000	1,039,264.00	1,300.00000	1,040,000.00
0020 0650 1 16 VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, SECTION, 1 WAY	8.000 AS	1,500.00000	12,000.00	1,501.36000	12,010.88	2,300.00000	18,400.00
0025 0650 1 18 VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, SECTION STRAIGHT, 1 WAY	1.000 AS 5	2,500.00000	2,500.00	1,572.58000	1,572.58	3,500.00000	3,500.00
0030 0650 1 19 VEHICULAR TRAFFIC SIGNAL, FURNISH & INSTALL ALUMINUM, SECTION CLUSTER, 1 WAY	1.000 AS 5	2,500.00000	2,500.00	1,995.53000	1,995.53	3,500.00000	3,500.00



Page 2 of 7

Florida Department of Transportation



Tabulation of Bids

CT180613 June 13 2018 Call Order: 027 Contract: 74082

Letting:	C	Γ180613	June 13, 2018	Cal	I Order: 027		Contract:	Z4082	
Line No /		Alternat	e Quantity Units	(1) ARC ELE	CTRIC INC	(2) SIGNAL TE AND INSTALLA			LIGHTING AND ATION, LLC.
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION:	0001	Signalization						
0035 0650 VEHICULAR REMOVE- PO			100.000 AS	50.00000	5,000.00	246.06000	24,606.00	2,000.00000	200,000.00
0040 0650 VEHICULAR RELOCATE- REINSTALLA	INCLUDE		2.000 AS AND	500.00000	1,000.00	863.91000	1,727.82	2,000.00000	4,000.00
0045 0650 VEHICULAR REPAIR/REP & INSTALL, E	PLACE/RE	TROFIT- FUE	·	250.00000	10,000.00	721.80000	28,872.00	250.00000	10,000.00
0050 0650 VEHICULAR REPAIR/REP & INSTALL, E REFLECT BO	PLACE/REBACKPLA	TROFIT- FUE	RNISH	300.00000	12,000.00	749.83000	29,993.20	260.00000	10,400.00
0055 0650 VEHICULAR REPAIR/REP & INSTALL, T	PLACE/RE	TROFIT- FUE	·	150.00000	6,000.00	370.55000	14,822.00	100.00000	4,000.00
0060 0650 VEHICULAR REPAIR/REP & INSTALL, A SIGNAL ASS	PLACE/READD SEC	TROFIT- FUE	RNISH	799.99000	799.99	738.63000	738.63	500.00000	500.00
0065 0659 MOUNTING A REPAIR/REP INSTALL, MA ASSEMBLY	LACE/RE	TRO- FURNI	2.000 EA SH &	250.00000	500.00	487.42000	974.84	1,000.00000	2,000.00





Tabulation of Bids

Page 3 of 7

Letting:	CT180613	June 13, 2018	Cal	II Order: 027		Contract:	Z4082	
Line No /		ate Quantity Units	(1) ARC ELE	ECTRIC INC	(2) SIGNAL TE AND INSTALL			LIGHTING AND ATION, LLC.
	es item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 0001	Signalization						
MOUNTING REPAIR/REF	59 1102 ASSEMBLY, PLACE/RETRO- FURN PAN WIRE MOUNTING		200.00000	8,000.00	743.76000	29,750.40	750.00000	30,000.00
MOUNTING REPAIR/RE	59 1104 ASSEMBLY, PLACE/RETRO- FURN SCONNECT HANGER		405.00000	16,200.00	773.35000	30,934.00	500.00000	20,000.00
INTERNALL	00 521 Y ILLUMINATED SIGN INSTALL OVERHEAD TO 12 SF	,	2,300.00000	92,000.00	3,951.66000	158,066.40	5,000.00000	200,000.00
INTERNALL	00 522 Y ILLUMINATED SIGN INSTALL, OVERHEAI 18 SF		2,600.00000	26,000.00	4,342.50000	43,425.00	6,000.00000	60,000.00
	0001 Signalization	Section Totals:	1	\$889,999.99		\$1,490,183.28		\$1,661,300.00
	Contract	Grand Totals:		\$889,999.99		\$1,490,183.28		1,661,300.00



Page 4 of 7

Florida Department of Transportation



Tabulation of Bids

Letting:	CT180613	June 13, 2018	Call Order: 027	Contract:	Z4082
----------	----------	---------------	-----------------	-----------	-------

Letting:	CT180613 Ju	une 13, 2018	Cal	l Order: 027		Contract:	Z4082	
	/ Item ID Alternate	Quantity Units	(4) FLORIDA CONTRACT		(5) TRAFFIC DEVICE			
() indicate	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	Signalization						
SIGNAL CA	632 7 2 ABLE- EPLACE/OTHER, FURNISH	1,000.000 LF &	8.00000	8,000.00	8.20000	8,200.00		
	633 1111 FIC CABLE, F&I, OVERHEA SS	10,000.000 D, LF	6.00000	60,000.00	2.90000	29,000.00		
VEHICULAR	S50 1 14 R TRAFFIC SIGNAL, & INSTALL ALUMINUM, 3 1 WAY	800.000 AS	1,400.00000	1,120,000.00	1,191.00000	952,800.00		
VEHICULAR	S50 1 16 R TRAFFIC SIGNAL, & INSTALL ALUMINUM, 4 1 WAY	8.000 AS	1,800.00000	14,400.00	1,486.00000	11,888.00		
VEHICULAR FURNISH &	S50 1 18 R TRAFFIC SIGNAL, & INSTALL ALUMINUM, 5 STRAIGHT, 1 WAY	1.000 AS	2,950.00000	2,950.00	1,828.00000	1,828.00		
VEHICULAR	S50 1 19 R TRAFFIC SIGNAL, & INSTALL ALUMINUM, 5 CLUSTER, 1 WAY	1.000 AS	2,900.00000	2,900.00	1,828.00000	1,828.00		
VEHICULAF	650 1 60 R TRAFFIC SIGNAL, POLES TO REMAIN	100.000 AS	235.00000	23,500.00	81.00000	8,100.00		
VEHICULAR	850 170 R TRAFFIC SIGNAL, E- INCLUDES REMOVAL AI LATION	2.000 AS ND	750.00000	1,500.00	1,060.00000	2,120.00		



Page 5 of 7

Florida Department of Transportation



Tabulation of Bids

Letting: CT1806	13 June 13, 2018	Call	l Order: 027		Contract:	Z4082	
Line No / Item ID A	lternate Quantity Units	(4) FLORIDA CONTRACT		(5) TRAFFIC DEVICE			
() indicates item is bid as Lur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Signalization						
0045 0650 2101 VEHICULAR SIGNAL AUXILI REPAIR/REPLACE/RETROF & INSTALL, BACKPLATE- BL	IT- FURNISH	285.00000	11,400.00	401.00000	16,040.00		
0050 0650 2102 VEHICULAR SIGNAL AUXILI REPAIR/REPLACE/RETROF & INSTALL, BACKPLATE- BL REFLECT BORDER	IT- FURNISH	300.00000	12,000.00	13,161.00000	526,440.00		
0055 0650 2105 VEHICULAR SIGNAL AUXILI REPAIR/REPLACE/RETROF & INSTALL, TUNNEL VISOR		250.00000	10,000.00	151.00000	6,040.00		
0060 0650 2108 VEHICULAR SIGNAL AUXILI REPAIR/REPLACE/RETROF & INSTALL, ADD SECTION T SIGNAL ASSEMBLY	IT- FURNISH	600.00000	600.00	906.00000	906.00		
0065 0659 1101 MOUNTING ASSEMBLY, REPAIR/REPLACE/RETRO- INSTALL, MAST ARM MOUN ASSEMBLY		750.00000	1,500.00	729.00000	1,458.00		
0070 0659 1102 MOUNTING ASSEMBLY, REPAIR/REPLACE/RETRO- INSTALL, SPAN WIRE MOUN ASSEMBLY		750.00000	30,000.00	647.00000	25,880.00		





Tabulation of Bids

Page 6 of 7

Letting:	CT180613	June 13, 2018	Cal	l Order: 027		Contract:	Z4082	
Line No / I		ite Quantity Units	(4) FLORIDA CONTRACT		(5) TRAFFIC DEVICE			
() indicates	item is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	Signalization						
MOUNTING A REPAIR/REPI) 1104 SSEMBLY, LACE/RETRO- FURN CONNECT HANGER		750.00000	30,000.00	639.00000	25,560.00		
INTERNALLY) 521 ILLUMINATED SIGN NSTALL OVERHEAD TO 12 SF	40.000 , EA	7,400.00000	296,000.00	5,211.00000	208,440.00		
INTERNALLY) 522 ILLUMINATED SIGN NSTALL, OVERHEAD 8SF	′	8,000.00000	80,000.00	5,954.00000	59,540.00		
,	0001 Signalization	Section Totals:		\$1,704,750.00		\$1,886,068.00		
	Contract (Grand Totals:		\$1,704,750.00		\$1,886,068.00		



06/14/2018

Tabulation of Bids

Page 7 of 7

Letting:

CT180613

June 13, 2018

Call Order: 027

Contract:

Z4082

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

Certified in accordance with Code of Federal Regulations Title 23, Chapter 1, Subchapter G, Subsection 635.113(b).

Manager, Contracts Administration Office